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SSC TEST SERIES-5 
[Part-A. General Intelligence]  
Hkkx&d% lkekU; cqf)eRrk ,ao rdZ”kfDr  
Directions : IN question nos. 1 to 5, select the related word/ letters/ 
number from the given alternatives. 
funsZ”k % iz”u la[;k 1 ls 5 esa] fn, x, fodYiksa esa ls lEcfU/kr “kCn@ v{kjksa@ 

la[;k dks pqfu,A 

1. 9 : 24 : : ? : 32  
 (a) 16               (b) 17 (c) 18           (d) 11  
2. Hive : bee : : eyrie : ? 

 NRrk % e/kqeD[kh % % Åapk uhM+ % ?  

 (a) pigeon/dcwrj (b) parrot/rksrk 

 (c)eagle/x:M+ (d) sparrow/fpfM+;k  
3. STAR : RATS : : WARD : ? 
 (A)DRAW (B) FAME 
 (C) SHINE (D) MICE 
4. DCBA : WXYZ : : IJKL : ? 
 (A) QPON (B) PONM 
 (C) SRQP (D) RQPO 
5. DHLPTX : BFJMRV : : CGKOSW : ? 
 (A) UMQEIA (B) AIOMUQ 
 (C) IJKLMN (D) AEIMQU 
6. Choose the similar group of numbers on the basis of certain 

common properties they possess: 
 ,slh la[;kvkssa ds lewg dk p;u dhft, ftuesa dqN lkekU; xq.k/keZ gSA 

 (31, 19, 41) 
 (a) (16, 27, 11) (b) 27, 29, 47) 
 (c) (29, 17, 37) (d) (23, 33, 51) 

Directions : In questions No. 7 to 12, find the odd number/ letters/ 
number pair from the given alternatives. 

funsZ”k % iz”u la[;k 7 ls 12 rd esa] fn, x, fodYiksa esa ls fo’ke 

la[;k@v{kj@ la[;k ;qXe pqfu,A 

7. (A) (29, 31) (b) (47, 49) 
 (C) (5,7) (D) (11,13) 

8. (A) Lotus/dey (b) Rose/xqykc 

 (C) Tulip/V~;wfyi (d) Marigold/xSank 

9. (a) bbb fff jjj (b) mmm qqq ttt 

 (c) ccc ggg kkk (d) kkk ooo sss  

10. (A) 8 11 0 (B) 11 8 9 
 (c) 1 2 3 4 (d) 9 1 0 0 

11. (A) Bronze/dkaL; (b) Brass/ ihry 

 (c) Steel/bLikr (d) Tin/ fVu 

12. (A) TEAP (B) QIEM 

 (C) HIUL (D) ZOIV 
13. Arragne the following according to Dictionary . 

 “kCndks”k esa fn, o.kZØe ds vuqlkj fyf[k,A 

 1. Fenestration  2. Feather 
 3. Feed head 4. Feature 
 5. Feminine 
 (A) 4, 2, 3, 5, 1 (b) 4, 2, 3, 1, 5 
 (C) 2, 4, 1, 5, 3 (d) 2, 4, 3, 5, 1 
14. Which one of the given responses would be a meaningful order of 

the following ? 

 fuEu fodYiksa esa ls dkSu&lk fodYi uhps fn;s gq, “kCnksa dk 

lkFkZd Øe n”kkZrk gS\ 

 1. Rivulet/ ufndk  2. Ocean/lkxj 

 3. Tributary/lgk;d unh 4. River/unh 

 5. Sea/leqnz 6. Rain/o’kkZ 

 (a) 6 4 1 3 5 2 (b) 6 1 3 4 5 2 
 (c) 5 6 1 3 2 4 (d) 6 5 3  1 2 4 
Directions :In question Nos. 15 and 16, which one set of letters when 
sequentially placed at the gaps in the given letter series shall complete it? 

funs”k % iz”u la[;k 15 vkSj 16 esa] v{kjksa dk dkSu &lk lewg [kkyh 

LFkkuksa ij Øeokj j[kus ls nh xbZ v{kj Ja`[kyk dks iwjk djsxk\ 

15. LU_ TUPLUBTU _ LUBT_P _ UBTUP 
 (A) BPUL (B) LBPU 
 (C) PBUL (D) BUPL  
16. B_ CCABB_CABBC_AB_CCA 
 (A)BCCB (B)BBBC 
 (C)BCBC (D)BBCC 

Directions : In question no. 17 and 18, a series is given with one /two 
term/ a missing. Choose the correct alternative from the given ones that 
will complete the series. 

funs”k% iz”u la[;k  17 vkSj 18 esa] ,d vuqØe fn;k gS] ftlesa 

,d@ nks in yqIr gS A fn, x, fodYiksa esa ls og lgh fodYi 

pqfu, tks vuqØe dks iwjk djsaA 

17. 24, 35, 20, 31, 16, 27 ? , ?  

 (a) 5, 30 (b) 9, 9 
 (c) 12, 23 (d) 8, 25 

18. 
1 2 5 2 2

7 ,8 ,9 ,12 ,16 ,?
7 6 5 4 3

 

 (a) 35         (b) 
50

2
 (c) 

2
15

4
 (d) 

4
16

4
  

19. Two persons A and B get the same salary. Their basic pay are 
different . The allowances are 65% and 80% of the basic pay 
respectively. What is the ratioof the basic pay? 

 nks O;fDr;ksa A vkSj B dks leku osru feyrk gSA mudk ewy 

osru fHkUUk&fHkUUk osru ds Øe”k % 65 izfr”kr vkSj 80 

izfr”kr gSA ewy osru dk vuqikr D;k gS\ 

 (a) 11: 10 (b) 12: 11 (c) 7 : 5 (d) 17 : 15 
20. A man climbing up a wall of 24 metres high, climbs 16 m on one 

day but slipped back by 3 m 40 cms in the evening. How far had  
the man reached on that day? 

 24 eh- Å¡ph nhokj ij p<+us okyk ,d vkneh ,d fnu esa 

16 eh- p<+k ysfdu “kke dks 3 eh  40 ls- eh uhps fQly 

x;k A ml fnu og vkneh fdruh nwj igq¡pk \ 

 (a) 19 m/ 40 cm  (b) 12.6 m 
 (c) 11.4 m (d) 12m/ 40 cm 
21. Two horses A and B run at a speed of 3 : 2  ratio in the first lap; 

during the second lap the ratio differs by 4 : 7; during the third lap 
the ratio differs by 8 : 9. What is the difference in ratio of speed 
altogether  between the two horses? 

 nks ?kksM+s A vkSj B igys pDdj esa 3 % 2 vuqikr dh xfr ls nkSM+rs gS] 

nwljs pDdj es vuqikr cnydj 4 % 7 gks tkrk gS] rhljs pDdj esa 

vuqikr cnydj 8 % 9 gks tkrk gS A nksuksa ?kksM+ksa ds chp dqy feykdj 

vuqikr esa fdruk varj gS\ 

 (a) 2            (b) 1  (c) 3               (d) 4 

Directions : In question Nos 22 and 23, from the given alternative 
words, selct the word which cannot be formed using the letters of the 
given word: 

funsZ”k % iz”u la[;k 22 vkSj 23 esa] fuEufyf[kr fodYiksa esa ls og 

“kCn pqfu, tks fn, x, “kCn ds v{kjksa dk iz;ksx djds ugha cuk;k 

tk ldrk  

22. ADMINISTRATION 
 (A) Minister (b Station (c) Mind (d) Ration  
23. CHARACTER 
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 (a) Tracer(b) Hearty (c) Charter (d) Crate 
24. If „a‟ represents , „b‟ represents +, „c‟ represents – and „d‟ 

represents × then 24a6d49c8= ? 

 ;fn „a‟  dks n”kkZrk gS] b‟ + dks n”kkZrk gS] „c‟ – dks n”kkZrk 

gS vkSj „d‟ × dks n”kkZrk gS rks 24a6d4b9c8=? 
 (a)17             (b) 6  (c) 20          (d) 19 
25. Some equations are solved on the basis of certain system. Find 

out the correct answer for the unsolved equation on that basis : 
 dqN lehdj.k fdlh O;oLFkk ds vk/kkj ij gy fd, x, gSA mlh vk/kkj 

ij gy u fd, x, lehdj.k dk lgh mRrj Kkr dhft,A 

 7 ×6×4= 674, 8×5×3= 583, 9×1×2=? 
 (a)292 (b) 462  (c) 727 (d) 192 
26. In a language FIFTY is written as CACTY, CAR as POL, TAR as 

TOL, how can TARIFF  be written in that language? 

 fdlh Hkk’kk eas FIFTY dks CACTY, CAR  dks POL, TAR dks TOL 
fy[kk tkrk gS] rks TARIFF  dks ml Hkk’kk esa dSls fy[kk 

tk,xk\ 

 (A) TOLADD (B) TOEFDD (C) TOEFEL (D) TOLACC 
27. Change symbol and slove accordingly to find out correct answer 

from the alternatives given below: 
 uhps fn, x, fodYiksa dk lgh mRrj Kkr djus ds fy, fpgkzsa dks cnfy, 

vkSj rnuqlkj mls gy dhft,A 

 9 ×8×7= 24, 4×7×3= 14, 2×1×9=? 
 (a) 11 (b) 18  (c) 12 (d) 10 
28. If GOODNESS is codded as HNPCODTR, how can GREATNESS be 

written in that code? 

 ;fn GOODNESS dks HNPCODTR dksM esa fy[kk tkrk gSA rks 

blh dksM esa GREATNESS dks dSls fy[kk tk,xk\ 

 (a) HQFZSMFRT (B) HQFZUFRTM 
 (C) HQFZUODTR (D) HQFZUMFRT 

Directions : In Question Nos 29 to 31, select the missing  number from 
the given responses. 

funs”k % iz”u la[;k 29 ls 31 esa] fn, x, fodYiksa esa ls yqIr vad 

Kkr dhft,A 

29.  

 
  (a) 71            (b) 76 (c) 53                (d) 68 

30.  

 
 (a) 19 (b) 24 
 (c) 12 (d) 18 
31.  Ashish leaves his house at 20 minutes to seven in the morning, 

reaches Kunal‟s house in 25 minutes, they finish their breakfast in 
another 15 minute and leave for t heir office which takes another 35 
minutes, At what time do they leave Kunal‟s houses to reach their 
office ? 

 vk'kh"k lqcg lkr cts ls 20 feuV iwoZ viuk ?kj NksM+ nsrk gS] 

og dq.kky ds ?kj ij 25 feuV esa igq¡prk gSA os vxys 15 
feuV esa viuk uk'rk [kRe djrs gaS vkjS vkWfQl ds fy, 

fudyrs gS ftlds fy, mUgs 35 feuV vkjS yxrs gaS os fdrus 

cts dq.kky ds ?kj ls vkWfQl ds fy, fudys Fks \ 

 (A) 7.40 am (B) 7.20 am (C) 7.45 am (D) 8.15 am 

32.  

 
 How many faces can you count in this 3- dimensional model ? 

 bl 3& vk;keh ekWMy eas fdrus eq[kkd`fr gS\ 

 (a) 16 (b) 14 (c) 18 (d) 12 
33. Which of the following states  the relationship between Sociology , 

Humanities and Psychology? 

 fuEufyf[kr esa ls dkSu&lh vkd`fr lekt”kkL=] euksfoKku 

vkSj ekufldksa ds chp laca/k dks n”kkZrh gS\ 

(a)          (b)        (c)              (d)  
34.  If in a certain code, TWENTY is written as 863985 and ELEVEN is 

written as 323039, how will TWELVE be written in that code ? 

 fdlh [kkl dksM esa TWENTY dks 863985 ds :i esa fy[kk 

tkrk gS rFkk ELEVEN dks 323039 ds :i esa fy[kk tkrk gS] rks 

TWELVE dks ml dksM esa dSls fy[kk tk,xk \ 

    (A) 863203 (B) 863684  (C) 863903 (D) 863063 
35. Keeping his back towards the rising sun, Reshma starts walking. 

After a few minutes, she turns left and keeps on walking. Then a 
little later she turns right and then left. In which direction is she 
going at the moment? 

 mfnr  gksrs lw;Z dks vkSj viuh ihB djds] js”ek pyuk “kq: djrh gSA 

dqN feUkV ckn] og cka, ?kwe tkrh gS vkSj pyrh jgrh gSA rc FkksM+h nsj 

ckn og nk,a ?kwe tkrh gS vkSj fQj cka, ?kwe tkrh gSA ml {k.k og fdl 

fn”kk esa tk jgh gS\ 

 (a) North South/mRrj ;k nf{k.k 

 (b) South or West/ nf{k.k ;k if”pe 

 (c) East or South / iwoZ ;k nf{k.k 
 (d) West or North/ if”pe ;k mRrj 
36. From her home facing south- west, Kavita walks 15 m and turns 

northward and walks 12 m. How far was she from her home, 
which was her starting point? 

 vius ?kj ls nf{k.k if”pe dh vksj eq[k djds dfork 15 m 

pyrh gS vkSj fQj mRrj dh vksj eqM+dj 12 m pyrh gSA og 

vius ?kj ls] tks mldk izkjafHkd LFkku Fkk] fdruh nwj Fkh\ 

 (a) 9 m   (b) 15 m  (c) 12 m (d) 10 m 
37. Which venn diagram truly represents teachers, scholars and 

students? 

 
       (a)           (b)                (c)              (d)  
38. Which figure best represents the relationship between Editor, 

Newspaper and Journalist? 

 dkSu lh vkd`fr likafnd] lekpkj i= vkSj i=dkj ds chp 

laca/k dks lokZf/kd n”kkZrh gS\ 

(a)              (b)            (c)                      (d)
 

Directions: In question nos 39 and 40 one or two statements are given 
followed by two conclusions I and II. You have to consider the statement 
to be true, even if it seems to be at variance from commonly known facts. 
You are to decide which of the given conclusions can definitely be drawn 
from the given statement. Indicate your answer. 
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fUknsZ”k % iz”u la[;k 39 vkSj 40 esa ,d ;k nks oDrO; fn, x, gS] 

ftlds vkxs nks fu’d’kZ I vkSj II fudkys x;s gSA vkidks fopkj 

djuk gS fd oDrO; lR; gS pkgs og lkekU;r % Kkr rF;ksa ls fHkUUk 

izrhr gksrk gksA vkidks fu.kZ; djuk gS fd fn, x, oDrO; esa ls 

dkSu&lk fuf”pr :Ik ls lgh fu’d’kZ fudkyk tk ldrk gSA vius 

mRrj dks fufnZ’V dhft,A 

39. Statements:oDrO;%  
 (a)    Some schools are Laboratories 

  / dqN Ldwy iz;ksx”kkyk,a gSA 

 (b)    All Laboratories are theatres 

  / lHkh iz;ksx”kkyk,a ukV~;”kkyk,a gSA 

 Conclusions fu’d"kZ:  

 (I) Some theatres are schools/ 

  dqN ukV~;”kky,a Ldwy gSA  
 (II)  No school is a theatre 

  / dksbZ Hkh Ldwy ukV~;”kkyk ugha gSA 

 (A) Conclusion (I) and (II) follows/fu’d’kZ (I) ,ao (II) nksuksa 

fudyrs gS  

 (B) Neither conclusion (I) nor (II) follows/ fu’d’kZ (I) ;k (II)esa 
ls dksbZ ugha fudyrkA 

 (C) Conclusion (I) follows /fu’d’kZ (I) fudyrk gSA 

 (D) Conclusions (II) follows/ fu’d’kZ (II) fudyrk gSA 

40. Statement : Cactus plants are fleshy but need least 

water/ dSDVl ikS/ks xwnsnkj gksrs gS ysfdu mUgs de ikuh dh 

vko”;drk gksrh gSA 

 Conclusions:fu’d’kZ% (I) All fleshy plants are cacti/lHkh 

xwnsnkj ikS/ks dSDVl gksrs gSA (II) Cactus plants need least water/ 

dSDVl ikS/kksa dks de ikuh dh  vko”;drk gksrh gS 

 (A) Only (II) follows/ dsoy fu’d’kZ (II) fudyrk gSA 

 (B) Both (I) and (II) follow/ fu’d’kZ (I) vkSj (II) nksuksa fudyrs 

gSA 

 (c) Only (I) follows/ dsoy fu’d’kZ (I) fudyrk gSA 

 (d) Niether (I) nor (II) follows/fu’d’kZ (I) ;k (II) es ls dksbZ Hkh 

fu’d’kZ ugha fudyrkA 
Diretions: In question nos. 41 and 42, which answer figure will complete 
the pattern in the question figure? 

fUknsZ”k % iz”u la[;k 41 vkSj 42 esa] dkSu lh mRrj vkd`fr iz”u 

vkd̀fr ds izfr:Ik dks iwjk djsxh\ 

41. Question Figure/iz”u vkd̀fr 

 
 Answer Figure/mRrj vkd̀fr 

 

                  (a)           (b)          (c)               (d) 
42. Question Figure/iz”u vkdf̀r 

 

Answer Figure 

 
                     (a)               (b)                (c)                (d)  
43. If a mirror is placed on the line MN, then which of the answer 

figures is the right image of the given figure? 
 ;fn ,d niZ.k dks MN js[kk ij j[kk tk;s] rks nh xbZ mRrj vkdf̀r;ksa esa 

ls dkSu&lh vkd`fr iz”u vkd`fr dh lgh izfrfcEc gksxh\ 

 Question Figure/iz”u vkd̀fr 

 
 Answer Figure 

 
               (a)              (b)           (c)              (d)  
44. A circular sheet of paper is folded in a particular manner, punched 

once and then unfolded. Find out the manner in which the paper 
was folded and punched from amongst the answer figures. 

 ,d o`Rrkdkj dkxt dks ,d fo”ks’k <ax ls eksM+k x;k gS vkSj fQj ,d 

ckj fNfnzr djds [kksyk x;k gSA mRrj vkd`fr;ksa dks ns[kdj crkb, fd 

mls fdl mRrj vkdf̀r esa fn, x, <ax ls eksM+dj fNfnzr fd;k x;k gSA 

 Question Figure/iz”u vkd̀fr 

 
Answer Figure/mRrj vkd`fr 

 
                            (a)              (b)            (c)           (d)  
45. An piece of paper is folded and cut as shown below in the question 

figures. From the given answer figures, indicate how it will appear 
when opened. 

 uhps iz”u vkdf̀r;ksa es fn[kk, vuqlkj dkxt dks eksM+dj dkVus rFkk 

[kksyus ds ckn og fdl mRrj vkd`fr tSlk fn[kkbZ nsxkk\ 

 Question Figure/iz”u vkd̀fr 

 
Answer figure/mRrj vkd`fr 

 
            (a)              (b)             (c)              (d)  
Directions (46): Find the missing number (?) from the given options. 

funsZ'k (44-46): fn, x, fodYiksa esa ls yqIr la[;k (?) Kkr 
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dhft, A 

46. 

3 4 5 

3 7 12 

3 ? 22 

 (a) 11 (b) 10 (c) 9 (d) 8  
47.  Find the number of triangles in the given figure. 

 fn, x, fp=ks esa f=Hkqtksa dh la[;k Kkr djsa \ 

 
 (a) 11 (b) 13 (c) 15 (d) 17  

48. Statements:/dFku% 
All green are blue./lHkh gjs uhys gSA 

All blue are white./lHkh uhys lQsn gSA 

Conclusions:/fu"d"kZ% 
1. Some blue are green./dqN uhys gjs gSA 

2. Some white are green./dqy lQsn gjs gSA 

3. Some green are not white./dqN gjs lQsn ugh a gAaS 

4. All white are blue./lHkh lQsn uhys gSA 
(A)  Only conclusion (1) and (2) 

  dsoy fu"d"kZ (1) vkSj (2) 

(B)  Only conclusion (1) and (3) 

  dsoy fu"d"kZ (1) vkSj (3) 

(C)  Only conclusion (1) and (4) 

  dsoy fu"d"kZ (1) vkSj (4) 

(D)  Only conclusion (2) and (4) 

 dsoy fu"d"kZ (3) vkSj (4) 

49. Which of the following Venn-diagrams satisfy the given statements ? 

 fuEufyf[kr esa ls dkSu&lh osu&vkÑfr fuEu dFkuksa dk 

izfrfufèkRo djrh gS\ 

 Iron, Lead, Nitrogen 

 ykSgk] lhlk] ukbVªkstu 

 (a)  (b)  (c)  (d)  
50.  A word is represented by only one set of numbers as given in any 

one of the alternatives. The sets of numbers given in the alternatives 
are represented by two classes of letters as in two matrices given 
below. The columns and rows of Matrix-I are numbered from 0 to 4 
and that of Matrix- II are numbered from 5 to 9. A letter from these 
matrices can be represented first by its row and next by its column. 
E.g., „D‟ can be represented by 03, 10, 44 etc., and „J‟ can be 
represented by 56, 67, 89 etc. Similarly, you have to identify the set 
for the word „ASCII‟. 

,d 'kCn dsoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk fd fodYiksa esa ls fdlh ,d esa 

fn;k x;k gSA fodYiksa esa fn, x,  la[;k&lewg v{kjksa ds nks oxks± }kjk n'kkZ, x, gSa] tSlk 

fd uhps fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr dh la[;k 0 ls 4 nh xbZ 

gS vkSj vkO;wg&II dh 5 ls 9A bu vkO;wgksa ls ,d v{kj dks igys mldh iafDr vkSj ckn 

esa LraHk la[;k }kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy, „D‟ dks 03, 10, 44 vkfn 

}kjk n'kkZ;k tk ldrk 

gS rFkk „J‟ dks 56, 67, 89 vkfn }kjk n'kkZ;k tk ldrk gSA blh rjg ls] vkidks 'kCn 

„ASCII‟ ds fy, la[;k lewg dks igpkuuk gSA 

                       Matrix –I                 Matrix -II 

 
 (a) 21, 33, 87, 11, 66  (b) 12, 33, 96, 23, 77 
 (c) 34, 02, 97, 99, 30  (d) 44, 14, 75, 86, 12 

PART – B/Hkkx &[k 
GENRAL KNOWLEDG & GENERAL AWARENESS/ 

LkkekU; Kku ,oa lkekU; tkudkjh 
51. The forests which act as barriers against cyclones 

are: 
 tks ou pØokrksa ds vojks/kdksa dk dk;Z djrs gS os ou 

dkSu&ls gS\ 

 (a) Evergreen forests/,ojxzhu ou 

 (b) Mangrove forests/eSuxzkso ou 

 (c) Monsoon forests/ekWulwu ou 

 (d) Alphine forests/vYikbu ou 
52. A reversible and an irreversible engine are working between the 

same limits of temperature. The efficinency of: 

 ,d mRØE; vkSj ,d vuqRØE; batu rkieku dh leku 

lhekvksa ds chp dk;Z dj jgs gks rks % 

 (a)    The reversible engine is greater than the irresversible engine 

  /mRØE; batu dh n{krk vuqRØE; batu ls vf/kd 

gksxhA 

 (b)    Each engine is 100% 

  / izR;sd batu dh n{krk 100izfr”kr gksxhA 

 (c)    The two engines are equal 

  / nksuksa batuksa dh n{krk leku gksxhA 

 (d) The irreversible engine is greater than the reversible engine 

      / vuqRØE; batu dh n{krk mRØE; batu ls vf/kd gksxhA 

53. Name the Kingdom which first used elephants in wars? 

 ml jkT; dk uke crkb, ftlus igyh ckj ;q) esa gkfFk;ksa 

dk bLrseky fd;k\ 

 (a) Avanti/ vOkUrh (b) Champa/pEik 

 (c) Magadha/ ex/k (d) Kosala/dkS”ky   
54. Which of the following is used in the treatment of cancer? 

 dSalj ds mipkj esa fuEufyf[kr esa ls fdldk iz;ksx fd;k 

tkrk gS\ 

 (a) Electrotherapy/ bysDVªksFksjsih  

 (b) Psychotherapy/lkbdksFksjsih 

 (c) Chemotherapy/dheksFksjsih 

 (d) Physiotherpy/fQft;ksFksjsih 
55. The most abundant element is: 

 lcls izpqj ek=k esa feyus okyk rRo D;k gS\ 

 (a) Silicon/ flfydkWu (b) Calcium/ dSfY”k;e 

 (c) Nitrogen/ukbVªkstu (d) Oxygen/ vkWDlhtu 
56. An electron microscope gives higher magnifications than an optical 

microscope because: 

 bysDVªkWu lw{en”khZ] pk{kq’k lw{en”khZ ls vf/kd vko/kZu D;ksa 

nsrh gS\  

 (A) The electronis have more energy than the light 

particles/bysDVªkWu esa izdk”k d.kksa ls vf/kd ÅtkZ gksrh gSA 
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 (B) The electron microscope uses more powerful lenses/ bysDVªkWu 

lw{en”khZ esa vf/kd “kfDr”kkyh ysUlksa dk iz;ksx fd;k tkrk 

gSA 

 (C) The wavelengthof electrons is smaller as compared to the 

wavelength of visible light / bysDVªkWu dh rjaxnS?;Z pk{kq’k 

izdk”k dh rjaxnS?;Z ls de gksrh gSA 

 (D) The velocity of electrons is smaller than that of 

light/ bysDVªkWu dk osx izdk”k ds osx ls de gksrk gS 
57. RAM is used as a short memory in a computer because it: 

 RAM dk iz;ksx dEI;wVj esa “kkVZ esekjh ds fy, fd;k tkrk 

gS D;ksafd % 

 (a) Is very expensive/ ;g cgqr eagxk gksrk gSA 

 (b) Is programmable/ ;g izksxzkfeax ds ;ksX; gksrk gSA 

 (c) Is volatile/ ;g ifjorZu”khy gksrk gSA 

 (d) Has less capacity/ blesa de {kerk gksrh gSA 

58. Who among the following was named as “Haryana 

Hurricane”? 
 fuEufyf[kr esa ls dkSUk ** gfj;k.kk rwQku ¼gfjdsu½^^ ds uke 

ls izfl) gqvk \ 

 (a) Ajay Ratsa/vt; jRl  

 (b) Nawab Pataudi/uokc iVkSnh 

 (c) Kapil Dev/dfiy nso  

 (d) Ajay Jadeja/vt; tMsTkk 

59. The states reorganization in 1956 created: 
 1956 esa jkT;ksa dk iquxZBu djus ls &&&&&A 

 (a) 17 states and 6 union Territories/17 jkT; vkSj 6 la?k jkT; 

{ks= cus 

 (b) 17 States and 9 Union Territories/ 17 jkT; vkSj 9 la?k jkT; 

{ks= cus 

 (c) 14 States and  6  Union Territories/ 14 jkT; vkSj 6 la?k 

jkT; {ks= cus 

 (d) 15 States and 9 union Territories/ 15 jkT; vkSj 9 la?k jkT; 

{ks= cus 
60. A low interest policy is also known as: 

 vYi C;kt uhfr dks vkSj D;k dgrs gS\ 

 (a) Investment policy/ fuos”k uhfr 
 (b) Income generating policy/vk; ltZu uhfr 

 (c) Dear money policy/ eagxh eqnzk uhfr  

 (d) Cheap money policy/lLrh eqnzk uhfr 
61. The  resources which are obtained from biosphere and have life 

are: 

 tSo eaMy ls izkIr vkSj ,sls L=ksr dkSu&ls gS ftuesa thou 

gksrk gS\ 

 (a) Renewable resources/uohdj.kh; L=ksr 

 (b) Potential resources/ laHkkO; L=ksr 

 (c)Biotic resources/ tSfod L=ksr 
 (d) Abiotic resources/ vtSfod L=ksr 
62. In a solar or lunar eclipse, the region of earth‟s shadow is divided 

into: 

 lw;Z ;k panz xzg.k esa] i`Foh dh Nk;k fdrus Hkkx es foHkkftr 

gks tkrh gS\ 

 (a) Four parts/ pkj Hkkx  

 (b) Five parts/ik¡p Hkkx 

 (c) Two parts/nks Hkkx  

 (d) Three parts/rhu Hkkx 

63. Tulsidas wrote Ramcharitamans during the reign of: 

 rqylhnkl us jkepfjrekul fdlds “kklu dky esa fy[kh\ 

 (a) Akbar/vdcj 

 (b)KrishnadevaRaya/d`’.knso jk; 

 (c) Jahangir/ tgkaxhj 

 (d) Rama Raya/ jkejk; 
64. What does the word‟ amphibian mean? 

 *mHk;pj* “kCn dk vFkZ D;k gS+\ 

 (a) Two lives/ nks tho (b) Four lives/Pkkj tho 

 (c) Thre lives/rhu tho (d) One lives/ ,d tho  
65. Reservation for the Scheduled Castes and Scheduled tribes in the 

Service has been provided in the Indian Constitution under: 

 Hkkjrh; lafo/kku ds fdl vuqPNsn esa vuqlwfpr tkfr;ksa vkSj 

vuqlwfpr tutkfr;ksa ds fy, vkj{k.k dk izko/kku fd;k x;k 

gS\ 

 (a) Article / vuqPNsn 365 (b)Article/vuqPNsn 375  

 (c) Article/vuqPNsn 315 (d) Article/ vuqPNsn 335 
66. Government of India has decided to integrate _____ with recent 

launched Pradhan Mantri Krishi Sinchayee Yojana. 

 Hkkjr ljdkj us gky esa “kq: dh xbZ iz/kku ea=h d`f’k flapkbZ 

;kstuk ds lkFk fdls ,dhd`r djus dk fu.kZ; fd;k\ 

 (a)  Accelerated Irrigation Benefit Programe  

  /Rofjr flapkbZ ykHk dk;ZØe 

 (b)  Haryali/ gfj;kyh 

 (c)  National Rural Livlihood Mission 

  / jk’Vªh; xzkeh.k thfodk fe”ku 

 (d)  Mahatma Gandhi National Rural Employment Guarantee Act 

  / egkRek xka/kh jk’Vªh; xzkeh.k jkstxkj xkjaVh vf/kfu;e 
67. The largest current because of its dark waters is known as the 

“black current” and that is: 

 og dkSu&lh lcls cM+h /kkjk gS ftls mlds dkys ikuh ds 

dkj.k **dkyh /kkjk** Hkh dgk tkrk gS\  

 (a) California current/dSfyQksfuZ;k /kkjk 

 (b) Antarctic current/vaVkdZfVd /kkjk 

 (c) Gulf stream/ xYQ LVªhe 

 (d) Kuroshio current/ dqjksf”k;k /kkjk 
68. The founder of the „Arya Samaj‟ was: 

 ** vk;Z lekt** ds laLFkkid dkSu Fks\ 

 (a) Dayanada Saraswati/ n;kaun ljLorh 

 (b) Raja Ram Mohan Roy/ jktk jke eksgu jk; 

 (c) Vivekananda/ foosdkuan 

 (d) Annie Besant/ ,uh cslsaV  
69. Nitrogen in water is commonly found in the form of: 

 ikuh esa ukbVªkstu vkerkSj ij fdl :Ik esa ikbZ tkrh gS\ 

 (a) Nitric oxide/ UkkbfVªd vkWDlkbM 

 (b) Nitrous oxide/ ukbVªl vkWDlkbM 

 (c) Nitrate/ ukbVªsV 

 (d) Nitrite/ukbVªkbV 
70. The Members of the Constituent Assembly which enacted the 

constitution of India were: 

 ftl lafo/kku lHkk }kjk Hkkjr ds lafo/kku dk vf/kfu;e 

fd;k x;k] mlds lnL; dkSu Fks\ 

 (a) Nominated by Governor- General/xouZj tujy }kjk 

ukfer 

 (b)  Nominated by the Political Parties/jktuhfrd nyksa }kjk 

ukfer 
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 (c)  Elected by the Legislative Assemblies of various provinces/ 
fofHkUUk izkarksa dh fo/kku lHkkvksa }kjk fuokZfpr 

 (d)  Directly elected by the people/ yksxksa }kjk lh/ks fuokZfpr 
71. To whom the President has to submit his resignation ? 

 jk’Vªifr dks viuk R;kx i= fdls izLrqr djuk gksrk gS\ 

 (a) Speaker/ yksdlHkk v/;{k 

 (b) Chief Justice/eq[; U;k;k/kh”k 

 (c) Prime Minister/ iz/kku ea=h 

 (d) Vice President/ mi jk’Vªifr 
72. The total number of planets revolving around the sun are: 

 Lkw;Z ds pkjksa vksj ?kweus okys xzgksa dh dqy la[;k fdruh gS| 

 (a) Seven/lkr (b)Eight/vkB 

 (c) Five/ikap (d) Six/N% 

73. Immunization technique was developed by: 
 Ikzfrj{k.k rduhd dk fodkl fdlus fd;k Fkk\ 

 (a) Louis Pasteur/yqbl ikLPkj  

 (b) Robert Koch/jkWcVZ dksp 

 (c) Joseph Lister/tkslsQ fyLVj  

 (d) Edward lenner/,MoMZ tsuj 
74. Which one of the following chapters in the Indian Constitution 

guarantees fundamental rights to the people? 

 Hkkjrh; lafo/kku ds fuEufyf[kr esa ls fdl v/;k; esa turk 

dks xkjaVh ewy vf/kdkj fn, x, gS\ 

 (a)Part /Hkkx III (b) Part/Hkkx IV 

 (c)Part/ Hkkx I (d) Part/ Hkkx II 
75. The market equilibrium for a commodity is determined by: 

 fdlh oLrq dk cktkj larqyu fdlls fu/kkZfjr fd;k tkrk 

gS\ 

 (a) The balancing of the forces of demand and supply for the 

commodity/ oLrq dh ekax vkSj vkiwfrZ dh “kfDr;ksa dk 

larqyu 

 (b) The intervention of the Government/ ljdkj dk gL{ksi 

 (c) The market demand of the commodity / oLrq dh cktkj ekax 

 (d) The market supply of the commodity/oLrq dh cktkj vkiwfrZ 
76. “Economies” of a firm are: 

 fdlh QeZ ds *LkqykHk* D;k gS\ 

 (a) An increase in its profits/ykHk esa o`f) 

 (b) Its dominance of the market/cktkj dk izHkqRo 

 (c) Saving in its production costs/mRiknu ykxr esa cpr 

 (d) A reduction in its selling expenses/fcØh O;; esa deh 

77. The hydrophilic nature of DNA is due to the presence of: 

 DNA dk tyjkxh Lo:Ik fdldh ekStwnxh ds dkj.k gksrk gS\ 

 (a) A number of hydrogen bonds/ fofHkUUk gkbMªkstu ca/k  

 (b) Phosphate group/QkWLQsV oxZ 

 (c) Deoxyribose sugar/ fMvkWDlhfjcksl “kdZjk 

 (d) Thymine base/Fkk;ehu csl 

78 In a computer system, which device is functionally opposite of a 
keyboard? 

 daI;wVj flLVe eas dkSu&lh ;qfDr dhcksMZ ds foijhr 

¼viksftV½ dk;Z djrh gS\ 

 (a) Joystick/tkW;fLVd (b) Trackball/VªSd ckWy 

 (c) Mouse/ekml (d) Printer/ fizaVj 

79. The sense of balance is achieved by: 

 larqyu dh vuqHkwfr fdlls gksrh gS\ 

 (a) Cerebellum equilibrium/ vuqefLr’dh; larqyu 

 (b) Thalamus equilibrium/FkSysel larqyu 

 (c) Cerebrum equilibrium/izefLr’dh; larqyu 

 (d) Spinal cord equilibrium/es:jTtq larqyu 

80. Aluminimum salt commonly used to stop bleeding is: 

 jDrL=ko dks jksdus ds fy, vkerkSj ij fdl ,sY;qfefu;e 

yo.k dk iz;ksx fd;k tkrk gS\ 

 (a) Aluminium Chloride/,syqfefu;e DyksjkbM  

 (b) Aluminium nitrate/,syqfefu;e ukbVªsV 

 (c) Alumnimum sulphate/,syqfefu;e lYQsV 

 (d) Potash alum/ IkksVk”k ,sye 

81. Cripps Mission came to India in: 

 fØIl fe”ku Hkkjr esa dc vk;k \ 

 (a) 1945 (b) 1946  (c) 1940 (d) 1942  
82. Who among the following Sultans tried to prohibit Sati? 

 fuEufyf[kr eas ls fdl lqYrku us lrh izFkk jksdus dk iz;kl 

fd;k\ 

 (a) Muhammad Bin Tuglaq/ eqgEen fcu rqxyd 

 (b) Firoz Tuglaq/fQjkst rqxyd 

 (c) Jalaluddin Khilji/tykyqn~nhu f[Yth 

 (d) Alauddin Khilji/ vykyqn~nhu f[Yth 

83. Total internal reflection cannot take when light goes from: 

 ml le; iw.kZ vkarfjd ijkorZu ugha gks ldrk gS tc 

izdk”k% 

 (a) water to glass/ ikuh ls gksdj dkap esa tkrk gS 

 (b) water to air/ ikuh ls gksdj ok;q esa tkrk gS 

 (c) glass to air/ dkap ls gksdj ok;q esa tkrk gSA 

 (d) glass to water/ dkap ls gksdj ikuh esa tkrk gSA 

84. Who constructed Humayun‟s Tomb in Delhi? 

 fnYyh esa gqek;w¡ dk edcjk fdlus cuok;k\ 

 (a) Haji Begam/ gkth csxe 

 (b) Babar/ ckcj 

 (c) Humayun/ gwek;w¡ 

 (d) Akbar/ vdcj 

85. Who among the following Mughal rulers banned music and 
dacing? 

 fuEufyf[kr esa ls fdl eqxy “kkld us laxhr vkSj ùR; ij 

izfrca/k yxk;k Fkk\ 

 (a) Jahangir/ tgkaxhj (b) Babar/ckcj 

 (c) Aurangzeb/vkSjaxtsc (d) Humayun/gqek;w¡ 

86. Which of the following is the major copper producing country? 

 fuEufyf[kr esa ls dkSUk&lk ns”k eq[; rkack mRiknd ns”k gS\ 

 (a) Indonesia/ baMksusf”k;k (b) Russia/ :l 

 (c) Sri Lanka/ Jhyadk (d) Chile/ fpyh 

87. Inferferous are synthesized in response to: 

 baVjQsjksu fdedh vuqfØ;k esa laf”ky’V gksrs gS\ 

 (a) Mycoplasma/ekbdzksIykTek  

 (b) Fungi/ dod 

 (c) Virus/ fo’kk.kq 

 (d) Bacteria/ thok.kq 

88. Who was the governor- general during the Second Anglo-Mysore 
War? 

 nwljs ,aXyks&eSlwj ;q) esa xouZj tujy dkSu Fkk\ 

 (a) Lord Wellesley/ ykMZ osYylys 

 (b) Sir John Shore/lj tkWu “kksj 

 (c) Lord Cornwallis/ ykWMZ dkWuZokfyl 

 (d) Warren Hastings/ okjsu gsfLVaXl 

89. The first law of the thermody namics is simply the case of: 



       

7  

 Rkixfrdh dk izFke fu;e lkekU;rk fdlls laca) ekeyk gS\ 

 (a) Charle‟s law/ pkYlZ fu;e 

 (b) The law of conservation of energy/ÅtkZ ds laj{k.k ds fu;e 

 (c) The law of heat exchange/Å’ek fofue; ds fu;e 

 (d) Newton‟s law of cooling/U;wVu ds “khryu fu;e 

90. Mac lver says‟ Kinship creates society and society at length creates 
______ 

 esfdoj dgrk gS & ** ca/kq& oka/koksa ls lekt curk gS vkSj 

varr% lekt ls &&&& curk gS** A 

 (a) Association/ LkaLFkk (b) City state/uxj jkT; 

 (c) Nation/jk’Vª (d) State/jkT; 

91. Red rot of sugarcane is caused by: 

 xUus dh yky lM+k¡/k fdlds dkj.k curh gS\ 

 (a) Collectrichum falcation/dkWysVksVªkbde QSydsVe 

 (b) Cerospora personata/ldksZLiksjk ilksZusV 

 (c) Alternaria altrnata/ vkWYVjusfj;k vkWYVjusV 

 (d) Phylophthera infestans/QkbyksQFkksjk bUQsLVUl 

92. Regarding money supply situation in India it can be said that the: 

 Hkkjr esa eqnzk vkiwfrZ dh fLFkfr ds laca/k esa dgk tk ldrk gS 

fd% 

 (a)  Currency with the public is almost equal to the deposits with 

the banks/ turk ds ikl eqnzk cSadksa esa tek ds cjkcj gSA 

 (b)  Currency with the public is inconvertible only/turk ds ikl 

eqnzk dsoy vfofues; gSA 

 (c)  Currency with the public is more than the deposits with the 

banks/turk ds ikl eqnzk cSadks esa tek ls vf/kd gSA 

 (d)  Currency with the public is less than the deposits with the 

banks/turk ds ikl eqnzk cSadksa esa tek ls de gSA 

93. A clone is a group of indivudals obtained through: 

 d`Urd ¼Dyksu½ fdlls izkIr O;fDr;ksa dk lewg gS\ 

 (a)  Self pollination/ Lo ijkx.k  

 (b) Micropogation/Lkw{e izo/kZu 

 (c)  Hybridisation/Lkadjhdj.k 

 (d) Cross pollination/ladj&ijkx.k 

94. Chemical name of Gammaxane is: 

 xSesClsu dk jklk;fud Ukke D;k gS\ 

 (a) Anlline/,fuyhu  

 (b)Toluene/VkWywbu 

 (c) Benzene hexachloride/csathu gsDlkDyksjbM 

 (d) Chloro benzene/ Dyksjks csathu 

95. The equilibrium price of a commodity will definitely rise if there is 
a/an: 

 fdlh oLrq ds larqyu ewY; esa fuf”pr :Ik ls o`f) dc gksrh gS\ 

 (a)  Increase in supply combined with a decrese in demand/ekax 

eas deh gksus ds lkFk&lkFk vkiwfrZ esa o`f) gksrh gSA 

 (b) Increase in demand accompanied by a decrease in 

supply/vkiwfrZ esa deh ds lkFk&lkFk ekax esa o`f) gksrh 

gSA 

 (c)  Decrease in both demand and supply/ tc ekax vkSj vkiwfrZ 

nksuksa esa deh gksrh gSA 

 (d)  Increase in both demand and supply/tc ekax vkSj vkiwfrZ 

nksuksa esa o`f) gksrh gSA 

96. The fleshy thalamus is edible in: 

 xwnsnkj FkSysel fdlesa [kkus ;ksX; gksrk gS\ 

 (a) Mango/vke (b)Orange/larjk 

 (c) Tomato/VekVj (d) Apple/lsc 

97. The largest forest which covers 25 precent of the world‟s forest 
land is: 

 fo”o dh 25 izfr”kr ou Hkwfe dks vkPNkfnr djus okyk 

lcls cM+k ou dkSu &lk gS\ 

 (a) Monsoon forest/ekWulwu ou 

 (b) Temperate forests of Europe/ ;wjksi ds “khrks’.k dfVca/kh; 

ou 

 (c) The tropical Rain forsest/m’.k dfVca/kh; o’kkZ ou 

 (d) Taiga forest of Siberia/lkbcsfj;k dk VSxk ou 

98. Name the acid attack victim who was honoured with prestigious 
“International women of courage” award on 4 march 2014 at the 
state department ceremony in Washington by Michelle Obama, 
first lady of the U.S. 

 ,flM vVSd dh ihfM+rk dk uke crkb, ftls vesfjdk dh izFke efgyk 

fe”ksy vksckek }kjk okf”kxaVu  esa 4 ekpZ 2014 dks vk;ksftr jkT; foHkkx 

lekjksg es izfrf’Br fd;k x;k \ 

 (a)Malini/ekfyuh (b) Shivani/f”kokuh 

 (c) Nirbhya/fuHkZ;k (d) Laxmi/Yk{eh 

99. If the Union Parliament is to assume legislative power over and 
subject included in the State List, the resolution of the effect has 
to be passed by which of the following? 

 ;fn dsanzh; laln dks jkT; lwph esa “kkfey fo/kk;h “kfDr;ksa vkSj fo’k;ksa 

dks xzg.k djuk gks rks bl vk”; dk izLrko fdlds }kjk ikfjr fd;k 

tk,xk\ 

 (a)  Lok Sabha, Rajya Sabha and legislatures of the Concerned 

States/ yksd lHkk] jkT; lHkk vkSj lcaf/kr jkT;ksa ds 

fo/kku eaMy 

 (b)  Both lok sabha and Rajya Shabha/ yksd lHkk vkSj jkT; 

lHkk nksuksa 

 (c)  Lok Sabha/yksd LkHkk 

 (d)  Rajya Sabha/ jkT; lHkk 

100. Which Article of the Indian Consitution defines the duties of the 
Chief Minister? 

 Hkkjrh; lafo/kku ds fdl vuqPNsn esa eq[; ea=h ds dk;ksZ dks 

ifjHkkf’kr fd;k x;k gS\ 

 (a)Article /vuqPNsn 164  (b) Article/ vuqPNsn 156 

 (c)Article/ vuqPNsn 167  (d) Article/ vuqPNsn 163 

Part –C 
QUANTITATIVE APTITUDE  

101. 2 km 5 m is equal to: 

 2 km 5m fdlds cjkcj gS\ 
 (a) 2.005 km (b) 2.0005 km (c) 2.5 km (d) 2.05 km 
102.A trader marks his goods 20% above C.P. but allows his customers a 

discount of 10%. The C.P. of a blackboard, which is sold for Rs. 
216, is: 

 ,d fodzsrk vius eky ij ykxr ewY; ls 20 izfr”kr vf/kd ewY; vafdr 

djrk gS ysfdu vius xzkgdksa dks 10 izfr”kr dh NwV nsrk gSA CySdcksMZ 

dk ykxr ewY; D;k gksxk ftls :- 216 esa cspk x;k gks\ 

 (a) Rs. 200 (b) Rs. 180 
 (c) Rs. 108 (d) Rs. 196 
103. A bus moving at 40 km per hour covers a distance in 6  hours 15 

minutes. If it travels the same distance at 50 km per hour how 
long will it take to cover the distance? 

 40 fd-eh- izfr ?kaVk dh xfr ls pyus okyh cl 6 ?kaVs 15 feuV esa nwjh 

r; djrh gSA ;fn ;g 50 fd-eh- izfr ?kaVk dh xfr ls mruh gh nwjh djs 

rks ml nwjh dks r; djus esa mls fdruk le; yxsxk\ 

 (a) 6 hours/?kaVs (b) 2 hours/?kaVs 

 (c) 4 hours/?kaVs (d) 5 hours/?kaVs 

104.If  a shopkeeper purchases cashewnut at Rs. 250 per kg and sells it 
at Rs. 10 per 50 grams, then he will have: 
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 ;fn ,d nqdkunkj : 250 izfr fdxzk dh nj ls dktw [kjhnrk gS vkSj 

:- 10 izfr 50 xzke dh nj ls mUgsa csp nsrk gS rks mls D;k gqvk gksxk\ 

 (a)25% profit/ykHk (b) 20%profit/ ykHk 

 (c) 20% loss/gkfu (d) 25% loss/gkfu 

105.The simplified value of  

 
 0.0539 0.002 0.4 0.56 0.07

0.04 0.25

   


is 

 
 0.0539 0.002 0.4 0.56 0.07

0.04 0.25

   


dk ljyhd`r eku D;k 

gS\ 

 (a) 59.96 (b) 599.6 (c) 0.5996 (d) 5.996 
106.The height of a triangle is increased by 10%. To retain the original 

area of the triangle, its corresponding base must be decreased by: 
 ,d f=Hkqt dh Å¡pkkbZ 10 izfr”kr c<+k nh tkrh gSA f=Hkqt dk ewy 

{ks=Qy cuk, j[kus ds fy, mldk rnuq:ih vk/kkj fdruk de djuk 

gksxk\ 

 (a) 
1

9
8

% (b) 
1

9
11

% (c) 10% (d) 
1

9
7

% 

107.The mean  of x and 
1

x
is M. Then the mean of 

2x and 
2

1

x
is: 

 X vkSj 
1

x
dk e/; M gS A 2x vkSj 

2

1

x
dk D;k ek/; D;k gS\ 

 (a) 
2M (b) 

2 2M   (c)4
2 2M   (d) 2

2 1M   

108. In a factory, the production of cycles rose to 48,00 from  40,000 in 
2 years. The rate of growth per annum is: 

 ,d QSDVjh esa] lkbfdyksa dk fuek.kZ 2 o’kZ esa 40]000 ls c<+dj 

48]000 gks x;k A izfro’kZ o`f) dh nj D;k gS\ 

 (a) 8% (b) 9%  (c) 10.5% (d) 10% 
109.A man bought a watch at 25% discount on the original price. He got 

Rs. 40 more than the original price by selling it at 140% of the 
price at which he bought. The price of buying the watch was: 

 ,d vkneh us ewy dher ij 25 izfr”kr NwV ij ,d ?kM+h [kjhnhA mlus 

ftl dher ij cM+h [kjhnh mlds 140 izfr”kr ij mls cspus ij mls 

ewy dher ls :- 40 vf/kd feys A ?kM+h [kjhnus dh dher D;k Fkh\ 

 (a) Rs. 900 (b) Rs. 600 (c) Rs. 800 (d) Rs. 700 
110.How many seconds will a train 120 metres long running at the rate of  

36 km/hr take to cross a brige of 360 metres in length? 
 36 fdeh@?kaVk dh xfr ls pyus okyh 120 ehVj yach jsyxkM+h dks 360 

ehVj yacs iqy dks ikj djus esa fdrus lsdaM yxsxs\ 

 (a) 48 sec/ls- (b) 36 sec/ls- (c) 40 sec/ls- (d) 46 sec/ls- 

111. Incomes of x and y are in the ratio 4 : 3. Their expenditure are in 
the ratio 12 : 7. Both save Rs. 3200 at the end of the month, then 
the income of x  is: 

 X vkSj  y dh vk; 4 % 3 ds vuqikr esa gSA mudk O;; 12  % 7 ds 

vuqikr esa gSA nksuksa gh eghus ds var esa :- 3200 dh cpr djrs gS] rks x 
dh vk; fdruh gS\ 

 (a) Rs. 6000 (b) Rs. 8000 (c) Rs. 2000 (d) Rs. 4000 

112. 12 monkeys can eat 12 bananas in 12 minutes. In 

how many minutes can 4 monkeys eat 4 bananas? 
 12 canj 12 dsys 12 feuV es [kk ldrs gSA 4 canj 4 dsys fdrus feuV 

esa [kk ldrs gS\ 

 (a) 12 (b) 10 (c) 4 (d) 8 
113. A certain amount of money earns Rs. 540 as Simple interest in 3 

years. If it earns a Compound Interest of Rs. 376.20 at the same 
rate of interest in 2 years, find the amount (in rupees) 

 fdlh /kujkf”k ij lk/kkj.k C;kt ds :i esa rhu o’kZ esa : 

540 feyrsa gSaA ;fn 2 Ok’kZ esa mruh gh C;kt nj ij : 

376.20  dk pdzòf) C;kt feys rks jkf”k ¼: esa½ Kkr djksa  

 (a) 2100 (b) 1600  (c) 1800 (d) 2000 

114. The average of some natural numbers is 15. If 30 is added to first 
number and 5 is subtracted from the last number thea average 
becomes 17.5 then the number of natural number is: 

 dqN izkdr̀ la[;kvksa dk ;ksx 15 gSA ;fn igyh la[;k esa 30 tksM+ fn;k 

tk, vkSj vafre la[;k ls 5 ?kVk fn;k tk, rks vkSlr 17-5 jgrk gSA 

izkdr̀ la[;kvksa dh la[;k fdruh gS\ 

 (a) 20           (b) 30 (c) 15 (d) 10 
115. The smallest whole number that is to be multiplied with 59535 to 

make a perfect square number is x. The sum of digits of x is: 
 ftl y?kqRre iw.kZ la[;k dks 59535 ls xq.kk djus ij iw.kZ oxZ la[;k 

curh gS og la[;k x gSA x ds vadksa dk ;ksx D;k gS\ 

 (a) 9           (b) 6  (c) 5 (d) 7 
116. The ratio of the ages of A and B at present is 3: 1. Four years 

earlier the ratio was 4: 1 . The present age of A is: 
 orZeku esa A vkSj B dh vk;q dk vuqikr 3 % 1 gSA pkj o’kZ iwoZ vuqikr 4 

%1 Fkk A A dh orZeku vk;q fdruh gS\ 

 (a) 40 years/ o’kZ(b) 32 years/ o’kZ (c)36years/ o’kZ(d)48 years/ o’kZ 

117. 
3

10 25 108 154 225
?

8

   
  

 (a) 8          (b) 1/2 (c)2              (d) 4 

118. If 
23 3 27x y x y   , then the value of 3x y

will be: 

 ;fn 
23 3 27x y x y   rks 3x y  dk eku D;k gksxk\ 

 (a) 
1

3
(b) 

1

27
 (c) 3  (d) 3 

119. A number is increased by x%, to get back to the original number, 
it is to be reduced by: 

 ,d la[;k dks x%, c<+k;k tkrk gS] okil ewy la[;k ykus ds fy, mls 

fdruk ?kVkuk gksxk\ 

 (a) 
10

%
100

x

x
 (b) 

100
%

100

x

x
 (c) x% (d) %

100

x

x
 

120. A fruit seller buys 240 apples for Rs. 600. Some of these apples 
are bad and are thrown away. He sells the remaining apples at Rs. 
3.50 each and makes a profit of Rs. 198. The % of apples thrown 
away are: 

 ,d Qy fodzsrk : 600 esa 240 lsc [kjhnrk gSA muesa ls dqN lsc [kjkc 

gS vkSj Qsad fn, tkrs gSA og izfr :- 3-50 ds fglkc ls “ks’k lsc csp 

nsrk gS vkSj :- 198 dk ykHk dekrk gSA Qsads x, lscksa dk izfr”kr D;k 
gS\ 

 (a) 8% (b) 7% (c) 6% (d) 5% 
121. 20 men can do a piece of work in 18 days. They worked together 

for 3 days, then 5 men joined them. In how many more days is 
the work completed? 

 20 vkneh ,d dke dks 18 fnu esa dj ldrs gSA mUgksusa 3 fnu feydj 

dke fd;k] mlds ckn 5 vkneh muds lkFk “kkfey gks x,A dke fdrus 

fnu esa iwjk gks tk,xk\ 

 (a) 12           (b) 14 (c) 15 (d) 13 

Study the bar graph and answer Q. No. 122 to 125 . 
ckj xzkQ dk v/;;u dhft, vkSj iz”u l- 122 ls 125 dk mRrj nhft,A 
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Years 1996 1997 1998 1999 2000 2001

120
150

130

250                                         

Quantity in Lakh Sugar Bags

ek=k phuh ds yk[k cksjksa esa

ewY; djksM :i;s esa
Value in Crore Rupees

150

330

100
150

200

120

50

500

o’kZ
 

122. The approximate percentage increase in quantity from 1997 to 
1998 was: 

 1997 ls 1998 rd ek=k esa o`f) dk vuqekfur izfr”kr fdruk Fkk\ 

 (a) 27.3% (b) 27.8%    (c) 26.5% (d) 26.9% 
123. Percentage fall in value from 2000 to 2001 in: 

 2000 ls 2001 esa ewY; esa vkbZ deh dk izfr”kr fdruk gS\ 

 (a) 50%  (b) 75%  (c) 25% (d) 40%  
124. The difference between the bags exported in 1999 and 2000 was: 
 1999 vkSj 2000 esa fu;kZr fd, x, cksjksa ds chp fdruk varj Fkk\ 

 (a) 50,000,00 (b) 1,00,000,00 
 (c) 1,50,000,00 (d) 2,00,000,00  
125. Value per bag was minimum in the year: 

 izfr cksjk ew0 fdl o’kZ U;wure Fkk\ 

 (a) 2001  (b) 1999   (c) 1996 (d) 1997 

126. A man was born in the year 1896 A.D. If in the year 
2x A.D. his 

age is x-4, the value of x is: 

 ,d vkneh dk tUe o’kZ 1896bZ- esa gqvk A ;fn o’kZ 
2x bZ esa mldh mez 

x-4 Fkh] rks x dk eku D;k gS\ 

 (a) 44(b) 36 (c) 42 (d) 40 
127. The total surface area of a regular triangle pyramid with each 

edges of length 1 cm is: 
 izfr 1 ls- eh yach fdukjksa okys fu;fer f=Hkqth; fijkfeM dk dqy lrg 

{ks=Qy fdruk gksxk\ 

 (a) 3 sq. cm/ oxZ ls-eh-  (b) 
4

3
3

sq.cm/ oxZ ls-eh- 

 (c) 4 sq. cm/ oxZ ls-eh- (d) 4 3  sq. cm/ oxZ ls-eh- 

128. The perimeter of a sheet of paper in the shape of a quadrant of a 

circle is 75 cm. Its area would be 
22

7

 

 
 

: 

 ,d o`Rr ds prqFkkZ”k ds vkdkj esa dkxt dk ifjeki 75 cm gSA bldk 

{ks=Qy fdruk gksxk\ 
22

7

 

 
 

 

 (a) 346.5 cm
2

(b) 100 cm
2

(c) 693 cm
2

 (d) 512.25 cm
2

 

129. If in a triangle ABC, BE and CF are two medians perpendicular to 
each other and if AB= 19 cm and AC= 22 cm then the length of 
BC is: 

 ;fn f=Hkqt ABC es ] BE vksj CF ,d nwljs ds yEcor~ nks 

ekf/;dk js[kk,¡ gS vkSj ;fn AB= 19 cm rFkk AC= 22 cm rks BC 

dh yackbZ fdruh gS\ 

 (a) 20.5 cm (b) 19.5 cm (c) 13 cm (d) 26 cm 
130.The shadow of a tower standing on a level plane is found to be 40 m 

longer when the sun‟s altitude is 45 than when it is 60. The 
height of the tower is: 

 lery vk/kkj ij [kM+h Vkoj dh ijNkbZ lw;Z dh Å¡pkbZ 60 dh rqyuk 

esa 45 gksus ij 40 m yach gksrh gSA Vkoj dh yackbZ crkb,A 

 (a) 30(3+ 3 )m (b) 40(3+ 3 )m 

 (c) 10(3+ 3 )m (d) 20(3+ 3 )m 

131. O is the circumcentre of  ABC. If BAC= 50 then OBC is: 

 O  ABC dk ifjdsUnz gSA ;fn BAC = 50 rks OBC 

fdruk gksxk\ 

 (a) 130 (b) 100 (c) 50 (d) 40 

132. If  is an acute angle and 2 sin
215cos 7   , then the 

value of cot  is: 

 ;fn  ,d U;wu dks.k gS vkSj 2 sin 215cos 7   ,rks cot 
 dk eku gksxk\ 

 (a) 
4

5
         (b) 

5

4
  (c) 

4

3
 (d) 

3

4
 

133. If the base of right prism remains same and the measures of the 
lateral edges are halved, then its volume will be reduced by: 

 ;fn le fizTe dk vk/kkj mruk gh jgs vkSj ik”oZ dksjksa dk eki vk/kk 

dj fn;k tk, rks mldk vk;ru fdruk de gks tk,xk\ 

 (a) 50%      (b) 25%    (c) 66% (d) 33.33% 

134. If 
2sin sin 1   ,then the value of 

2 4cos cos  is: 

 ;fn 
2sin sin 1   ,rks 

2 4cos cos  dk eku D;k gksxk\ 

 (a) 2 (b) 0 (c) 1 (d) -1 
135.If      999x + 888y = 1332 
        888x+ 999y=555 
 Then the value of x+y is: 

 ;fn  999x + 888y = 1332 

          888x+ 999y=555 

 Rkks x+y dk eku D;k gksxk\ 

 (a) 888 (b) 1 
 (c) 999 (d) 555 

136. The term that should be added to  24 8x x so that resulting 

expression be a perfect square is: 

  24 8x x es dkSu&lh la[;k tksM+h tk, fd ifj.kkeh in 

lagfr iw.kZ oxZ cu tk,\ 

 (a) 4 (b) 1           (c)2x (d) 2 
137. Two circles of radii 10 cm and 8 cm intersect and the length of the 

common chord is 12 cm. Then the distance between their centres 
is: 

 10 cm vkSj 8 cm f=T;k okys nks o`Rr ijLij var% dkV djrs gS vkSj 

mHk;fu’B thok dh yackbZ 12 cm gS] rks muds dsanzksa ds chp dh nwjh 

fdruh gksxh\ 

 (a) 15 cm (b) 10 cm (c) 8 cm (d) 13.3 cm 
138. The angle between the graph of the linear equation 239x-239y+5 

=0 and the x-axis is: 

 jSf[kd lehdj.k 239x-239y+5=0 vkSj x- v{k ds xzkQ ds chp dks.k 

fdrus va”k dk gksxk\ 

 (a) 45 (b) 60 (c) 0 (d) 30 

139. Provided sin(A-B) = sin A cos B – cos A sinB, sin 15 will be: 

 ;fn sin (A-B) = sin Acos B – cos A sin B, rks sin 15 D;k gksxk\ 

 (a) 
3 1

2


(b) 

3 1

2 2


 (c) 

3

2 2
 (d) 

3 1

2 2


 

140. If x+
1

x
=2 , then the value of 

7

5

1
x

x
 is: 

 ;fn 
1

2x
x

  ]rks 
7

5

1
x

x
  dk eku D;k gksxk\ 
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 (a)2
5

(b) 2
12

 (c)2 (d) 2
7

 

141. The number of paying stones each measuring 2.5 m×2 m required 
to pave a rectangular courtyard 30m long and 17.5 m wide, are: 

 30 eh- yacs vkSj 17.5 eh- pkSM+s vk;rkdkj izkax.k esa iRFkj 

fcNkus ds fy,, 2.5 eh- ×2 eh- eki ds fdrus Q”khZ iRFkjksa 

dh vko”;drk iMs+xh\ 

 (a) 99            (b) 105 (c) 33            (d) 80 

142. From two points on the ground and lying on a straight line through 
the foot of a pillar, the two angles of elevation of the top of the 
pillar are complementary to each other. If the distances of the two 
points from the foot of the pillar are 12 metres and 27 metres and 
the two point lie on the same side of the pillar, then the height (in 
metres) of the pillar is: 

 tehu ij vkSj [kaHks ds ckn ls gksdj _tq js[kk ij iM+s nks 

fcanqvksa ls] [kaHks ds “kh’kZ ds mUu;u dks.k ,d nwljs ds iwjd 

gSA ;fn [kaHks ds ikn ls nksuksa fcanqvksa dh nwjh 12 ehVj vkSj 

27 ehVj gS vkSj nksuksa fcanq [kaHks dh leku Hkqtk ij iM+rs gS 

rks [kaHks dh yackbZ ¼ehVj esa½ fdruh gksxh\ 

 (a) 16 (b) 12 (c) 15 (d) 18 
143. The diagonal of a quadrilateral shaped field is 24 m and the 

perpendiculars dropped on it from the remaining opposite vertices 
are 8 m and 13 m. The area of the field is: 

 prqHkZqt vkdkj ds {ks= dk fod.kZ 24 m gSS vkSj “ks’k lEeq[k 

“kh’kksZ ls cuk, x, yEc 8m vkSj 13 m gSA {ks= dk {ks=Qy 

fdruk gS\ 

 (a) 252 m
2

(b) 1152 m
2

 (c) 96 m
2

 (d) 156 m
2

 

144. Two isosceles triangle have equal vertical angles and their areas 
are in the ratio 9: 16. Then the ratio of their corresponding heights 
is: 

 nks lef}Hkqt f=Hkqt ds “kh’kZ dks.k cjkcj gS vkSj mudk 

{ks=Qy 9 % 16 ds vuqikr esa gS] rks mudh rnuq:ih Å¡pkbZ 

dk vuqikr D;k gksxk\ 

 (a) 4.5: 8 (b) 8: 4.5  (c) 3:4 (d) 4: 3 
145. The perimeters of two similar triangles are 30 cm and 20 cm 

respectively. If one side of the first  triangle is 9 cm. Determine 
the corresponding side of the second triangle: 

 nks leku f=Hkqtksa dk ifjeki Øe”k% 30cm vkSj 20 cm gSA 
;fn igys f=Hkqt dh ,d Hkqtk 9 cm gS rks nwljs f=Hkqt dh 

rnuq:ih Hkqtk Kkr dhft,A 

 (a) 15 cm (b) 5 cm (c) 6 cm (d) 13.5 cm 
Directions : The expenses of a country for a particular year is given in 
the pie chart. Read the pie chart and answer question no. 146 to 150. 

ikbZ&pkVZ esa fdlh ns”k ds o’kZ fo”ks’k ds O;; n”kkZ, x, gSA 

ikb&pkVZ dk v/;;u dhft, vkSj iz”u la 146 ls 150 ds mRrj 

nhft,A 

Education 

f”k{kk

10%
Health 

LokLFk;

54%

Sports
[ksy 18%

Others 
30% 

vU;Non P
la

n 

;k
st
usR
rj

36º

S
ta

te
 

Deve
lo

pm
en

t

15%
 

jk
T;

 f
od

kl

Defence

15% 

j{kk

 
146. If the total amount spent by Government during the year was Rs. 

3,00,000 crores, the amount spent on state development exceeds 
that on sports by: 

 ;fn ljdkj }kjk o’kZ esa [kpZ dh xbZ dqy jkf”k :- 3]00]000 

djksM+ Fkh] rks jkT; fodkl ij [kpZ dh xbZ jkf”k [ksyksa ij 

[kpZ dh xbZ jkf”k ls fdruh vf/kd cSBrh gS\ 

 (a) Rs. 25,000 crores/djksM+  (b) Rs. 45,000croes/ djksM+ 

 (c) Rs. 35,000 crores/ djksM+ (d) Rs. 30,000 crores/ djksM+ 
147. The precent of less money spent on non plan than that on defence 

is: 

 j{kk dh rqyuk  esa ;kstusrj “kh’kZ esa fdrus izfr”kr de jkf”k 

[kpZ dh xbZ\ 

 (a) 12%     (b) 15%  (c) 5% (d) 10% 
148. The precent of more money spent on others than that on sports 

is: 

 [ksyksa dh rqyuk esa vU; O;; “kh’kZ esa fdrus izfr”kr vf/kd 

jkf”k [kpZ dh xbZ\ 

 (a) 26%      (b) 25% (c) 28% (d) 27% 
149. If the total amount spent by the Government during the year was 

Rs. 1,00,000 crores, then the amount spent on health and 
education together was: 

 ;fn ljdkj }kjk o’kZ esa [kpZ dh xbZ dqy jkf”k :- 1]00]000 

djksM+ Fkh] rks LokLF; vkSj f”k{kk ij feykdj dqy fdruh 

jkf”k [kpZ dh xbZ\ 

 (a) Rs. 25,000 crores /djksM+ (b) Rs. 30,000crores/ djksM+ 

 (c)Rs. 15,000crores/ djksM+         (d) Rs. 20,000 crores/ djksM+ 
150. The precent of the total spending that is spent on health is: 

 LokLF; ij dqy fdrus izfr”kr jkf”k [kpZ dh xbZ\ 

 (a) 25%(b) 30%  (c) 15% (d) 20% 

Part- D ENGLISH COMPREHENSION  
Directions : In questions no. 151 to 155, some part of the sentences 
have errors and some are correct. Find out which part of a sentence has 
an error and blacken the circle () corresponding to the appropriate letter 

(A,B,C). If a sentence is free from error, blacken the circle corresponding 
to (D) in the answer sheet. 
151. The tean was/(a)now in the field and/(b) about to take their 

place/(c) No error/(d) 
152. Everyone were happy/(a) to hear/(b) about his success/(c) No 

error (d) 
153. The lions/(a) kill the animals/(b) and eat his meat/(c) No error/(d) 
154. Hearing these strange noises above/(a) the thought at once 

occurred to me/(b) that thieves had entered the house/(c). No 
error/(d) 
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155. Our beloved Prime-Minister/(a) is known to/(b) the prominent 
figures all over the world/(c) No error/(d) 

 Directions: In questions No. 156 to 160 sentences given with 
blacks are to be filled in with an appropriate word(s). Four 
alternatives are suggested for each question. Choose the correct 
alternatives out of the four and indicate it by blackening the 
approparte circle () in the answer sheet. 

156. There were so many ____ points in his speech that the 
audience____ to get the message. 

 (a) Superficial – listened (b) Relevant – hastened 
 (c) Interesting- Tried (d)Irrelevant- failed  
157. The little boy ran____ fast that he was ____ for breath. 
 (a) So- gasping (b) Too – fighting 
 (c) So- inhaling (d) very- struggling  
158. He was so_____ at his job that he he was asked to give a ___ to 

the visitors. 
 (a) proud: respected (b) Excellent : warned 
 (c) Talented : praised (d) Stupid: admired 
159. She was so_____ that she was_____ by all. 
 (a) Proud : respected  (b) Excellent : warned 
 (c) Talented : praised (d) Stupid : admired 
160. The____ of the „chief‟ was____ upon him. 
 (a) title, bestowed (b) Name, dismissed 
 (c) Title, imposed (d) Appointment, thrown 
Directions: In question no. 161 to 165 out of the four alternatives, choose 
the one which best expresses the meaning of given a____ to the visitors. 
161. Annihilate 
 (a) Initiate (b) Destroy  (c) Solve  (d) Dudce 
162. Quarry 
 (a) Quest (b) Denounce (c) Victim (d) Quake 
163. Interference 
 (a) Honour (b) Deference  (c) Obstruction (d) Fearful 
164. Verisimilitude  
 (a) Festive (b) Fantastic  (c) Grostesque (d) Authenticity 
165. Conjecture 
 (a) Knowledge (b) Guess (c) Truth (d) Bias 
 Direction: In questions No. 166 to 170, choose the word opposite 

in meaning to the given word and mark it in the Answer Sheet. 
166. Unscrupulous 
 (a) Single- minded (b) Superfluous 
 (c) Dedicated (d) Conscientious 
167. Traquil 
 (a) Perpetual (b) Temporal  (c) Unruffled (d) Distrubed 
168. Enlarge 
 (a) Amplify (b) Glorify  (c) Condense (d) Augment 
169. Obsequious 
 (a) Domineering (b) Clever  (c) Opaque (d) Careful 
170. Vacillate 
 (a) Injure (b) Relieve  (c) Decide (d) Repel 
 Directions: In questions No 171 to 175, four alternatives are given 

for the Idiom/ Phrase underlined in the sentence. Choose the 
alternative which best expresses the meaning of the Idiom / 
Phrase and mark it in the Answer sheet. 

171. The shopping mall is a beehive of activity. 
 (a) A secure place (b) A sweet place 
 (c) A busy palce (d) A costly palce   
172. To win laurels. 
 (a) To be disappointed (b) To memorise 
 (c) To be victorious in a game (d) To earn great prestige 
173. The officer was in the soup when there was a raid in his office. 
 (a) Preparing soup (b) Distributing soup 
 (c) To be in trouble (d) Drinking soup 
174. We must draw the line somewhere. 
 (a) Turn the tables (b) Put the screw on 
 (c) Fix a limit (d) Aim at the sky 
175. To cut the Gordian Knot. 
 (a) To do a job perfunctiorily  (b) To cut a piece of cloth 
 (c) To prform an easy task         (d) To perform a difficult task 
 Directions : In questions No. 176 to 180, a part of the sentence is 

underlined. Below are given alternatives to the underlined part at 

(A), (B),(C) which may improve the sentence. Choose the correct 
altneraitve. In case no improvement is needed your answer is (D). 
Mark your answer in the Answer sheet. 

176. She is very eccentric women. 
 (a) Unusual (b) Impatient 
 (c) Generous (d) No improvement  
177. The workers should have been more meticulous. 
 (a) Precise (b) Punctual 
 (c) Committed (d) No improvement 
178. The chickens in his farm are fatted up nicely. 
 (a) Are fattening (b) Are fattying 
 (c) Are fattened  (d) No improvement 
179. I was angry at myself for making such a big mistake. 
 (a) About (b) with 
 (c) ON (d) No improvement  
180. Torture and trauma has made her a mental patient. 
 (a) Mad (b) Mania 
 (c) lunatic (d) No improvement 
Directions : In questions No. 181 to 185, out of the four alternatives, 
choose the one which can be substituted for the given words/ setneces 
and indicate it by blackening the aprrpriate circle () in the answer sheet. 

181. Walking in sleep: 
 (a) Sleepy-head (b) Somnolence 
 (c) Sommambulism (d) Insomnia 
182. A person who leaves his own country in order to go and live in 

another. 
 (a) Emigrant(b) Refugee (c) Immigrant (d) Expatriate 
183. Showing a dislike of anything improper: 
 (a) Crude(b) prim (c) Strict (d) Rude 
184. That which cannot be avoided: 
 (a) Inevitable (b) Indifferent 
 (c) Inestimable (d) Infalliable 
185. Artistic, musical or dramatic interpretation: 
 (a) Reparation (b) Report 
 (c) Imitation (d) Rendition 
 Directions: In questions No. 186 to 190, four words are given in 

question, out of which only one word is correctly spelt. Find the 
correctly spelt word and mark your answer in the Answer sheet. 

186. (a) Curiousity (b) Quriocity 
 (c) Curiousity (d) Curioucity  
187. (a) Intecedent (b) Antecedant 
 (c) Antecedent (d) Entecedent 
188. (a) Symetry (b) Cemetery 
 (c) Cemetary (d) Cemetry 
189. (a) Neseating (b) Maditation 
 (c) Delibarate (d) Aberrance 
190. (a) Ansestral (b) Encestral 
 (c) Ansastral (d) Ancestral 
Directions : In questions No. 191 to 195, you have a passage with 5 
questions. Read the passage carefully and choose the best answer to each 
question out of the four alternatives and mark it by blackening the 
appropriate circle () in the answer sheet. 

 
Research is a detailed study of a subject undertaken on a systematic basic 
in order to increase the stock of knowledge, including knowledge of man, 
cluture and society, and the use of this stock of knowledge to devices new 
applications. It is used to establish or confirm facts, reaffirm the results of 
previous work, solve new or existing problems, or develop new theories. 
To test the validity of instruments, procedures or experiements research 
may replicate elements of prior projects, or the project as a whole. The 
primary purposes of basic research are whole. The primary purposes of 
basic research and development of methods and system for the 
advancement of human knowledge. There are several forms of research : 
scientific, humanities, artistic, economic , social, business marketing , etc. 
Academic publishing describes a system that is necessary in order for 
academic scholars to review the work and make it available for a winder 
audience. Most academic work is published in book form. There is also a 
large body of research that exists in either a thesis or dissertation form. 
Many researches spend their time applying for grants for research funds. 
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These grants are necessary not only for researchers to carry their 
research, but also as a source of merit. 
191. How many kinds of research are there? 
 (a) There are seven different kinds of rearch 
 (b) There are different kinds of research  
 (c) There is only one kind of research  
 (d) There are two different kinds of research   
192. Select the answer which best reflects the view expressed in the 

passage. 
 (a) Grants are not based on merit. 
 (b) Reserachers never apply for grants. 
 (c) Research can thrive without grants 
 (d) Documentation is important in research. 
193. Why is research conducted? 
 (a) Research is conducted in order to minimize the result of 

previous works. 
 (b) Research is conducted in order to destroy facts. 
 (c) Research is conducted in order to develop new problems.  
 (d) Research is conducted in order to verify information. 
194. What is research ? 
 (a) Research is the destruction of previous works. 
 (b) Research is the creation of new forms of knowledge  
 (c) Resarch is a procees having no practical use. 
 (d) Resarch is the attempt to limit the growth of knowledge  
195. Choose the most appropriate answer from this passage. 

 (a) Academic publishing is meant only for academicians. 
 (b) Academic publishing is meant only for professionals. 
 (c) Academic publishing is meant to benefit the general public. 
 (d)Academic publishing is meant only for experts. 
Directions: In questions No. 196 to 200, in the following passage some 
of the words have been left out. Read the passage carefully and choose 
the correct answer to each question out of the four alternatives and fill in 
the blanks. 
A team of Indian engineers 196 shown that digital photographs of the 
hand may 197 cholesterol levels in the body and serve as an early 
warning signal 198 poor lipid health without a standard blood test. 
Researchers believe the programme may be 199 in the future and 200 
into mobile phones to enable it to analyse digital images of the hand 
captured in the camera on a mobile phone. 
196. (A) Has been (b) Are 
 (c) Have (d) Has 
197. (A) Conceal (b) Conjecture 
 (c) Reveal (d) Conduct  
198. (a) Of (b) Before 
 (c) At (d) By 
199. (a) Resolved (b) Refined 
 (c) Retracted (d) Recorded 
200. (A) Formulated (b) Featured 
 (C) Loaded (d) Fixed  

 


